MFX-511Ql Next Generation
Interchangeable spare parts

Drawing
pos. no.

s3Iz rianideavoasen -

W W W MNDMNDMNDDNDDNDNDDNDDNDDNDDN
N = O © 0o N Ol WN =2 O

33

Next Generation
part no.

900A00007
900A00008
900A00009
900A00010
900A00029
900A00030
900A00031
900A00032
900A00011
900A00012
900A00013
900A00022
900P00060
900A00016
900S00007
900P00081
900P00062
900S00006
900A00017
900P00072
900P00070
900A00014
900A00015
900P00067
900P00014
900P00025
900P00007
900S00001
900A00003
900P00006
900P00066
900S00005
900P00065

*o o’

Description

mandrel M5

mandrel M6

mandrel M8

mandrel M10

anvil + counter nut M5
anvil + counter nut M6
anvil + counter nut M8
anvil + counter nut M10
rivbolt puller M5

rivbolt puller M6

rivbolt puller M8

front sleeve complete
connecting nut mandrel
socket joint

spring (14.9x1 L15.5)
counter nut

push nut

return spring (18.6x2 L23.5)

spindle unit
connector for spindle
joint shaft

rear body

front body

stroke adjuster
lever

grip

lever bolt

locknut (M8)
bracket set (3 pcs.)
pivot pin

stroke indicator
spring (4.5x0.5 L40)

sign "MFX-511Ql Next Generation"

o}usTERfi

Q'ty
per tool

a4 a2 AN A MNMMNDN A 4 2 d

Former version
part no.

*920051102B
*920051102C
*920051102D
*920051102E
*920083003B
*920083003C
*920083003D
*920083003E
*920051101B
*920051101C
*920051101D
*920051105

~ 920051109
*920051022

*920051127
~920051113A
~ 920051007
*920051011

~ 920051010
*920051015
~ 920051008

*920051012
~ 920051020

* = interchangeable part
~ = comparable part (not interchangeable)

Interchangeability spare parts Masterfix Next Generation tool and former version tool
Version 511-04: January 26th 2006



o esTERfio

e €2

2¢ e £e 8¢ 6 /2

0

6

9

Interchangeability spare parts Masterfix Next Generation tool and former version tool
Version 511-04: January 26th 2006



